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There are 13 people in the cartoon at the right.  Please explain ONE THING that each person is doing wrong in the laboratory…there may be one person who has correctly followed the laboratory safety rules.  For that person please write “all correct”.  You may have multiple answers the same, but can NOT use any answer more than THREE times.


Person 1: 



Person 8:


Person 2:



Person 9:


Person 3:



Person 10:


Person 4:



Person 11:

Person 5:



Person 12:

Person 6: 



Person 13:


Person 7:



What safety equipment is present in the lab?

